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#include<bits/stdc+.h>
using namespace std;

n,mu,v,len;

q,a,b,s;
ma[1160][110];
floyd()
{
for( kK=1;K=n;Kk+)
for( i=l;i=n;i+)
for( j=1;j=n;j+)
malil[jl=minCmal[i]l[j],ma[i][k]+ma[K]
[iD;
}
mi( X, y)
{


af://n0

for( i=l;isy;i+)
S*=X;

return s;

judge( X)

if(x==1)

{
if(len>s)
return 0O;
else

return 1;

ans=(mi(x,len+1)-x)/(x-1);
if(ans>s)
return 0;
else

return 1;

main()

cin>>n>>m;
for( i=l;is<n;i+)
for( j=1;j=n;j+)
if(i=+j)
ma[i][j1=0x3f3f3f3f;
for( i=1l;i<m;i+)
{

cin>u>>v;

malu] [v]l=ma[v][u]l=1;
}
floyd(Q);



cin>>q;
while(q--)
{
cin>>a>>b>>s;
len=mala]l[b];
1=0,r=(int)pow(2e9,1.0/len);
mid=(l+r)/2;
while(l+1<r)
{
if(judge(mid))
1=mid;
else
r=mid;
mid=(l+r)/2;
}
if(judge(r))
cout<<r ;
else
cout<<1l ;
}

return 0;
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